
©  Ford and Lord International Pty Ltd
www.fordandlord.com

Algebra 
Rewrite these expressions without grouping symbols

5 (a + 2) = 4 (n + 3) = 5 (a + 2) =

4 (c + 3) = 5 (m - 2) = 3 (x + 2) =

3 (a + 7) = 4 (x + 3) = 2 (x + 5) =

8 (1 - x ) = 7 ( k  - 3) = 3 (x + 2) =

5 (2 - y ) = 2 ( x + y) = 7 (w + 5) =

4 (p  - s) = 5 (2 -  t ) = 3 (x + 2) =

3 (a + 3) = 7 (6 + y) = 2 (x + 5) =

6 (a - b) = 5 (n  - 2) = 8 (x + y) =

8 (x  - 2) = 4 (n + 3) = 5 (a + 2) =

4 (c + 3) = 7 (t  - s ) = 6 ( x - 3) =
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